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Chapter 4 Quiz Chapter 4 Quiz

[0S

. Which of the following isotopes has the same number of neutrons as phosphorus-312 ‘ 4. Complete the following table . [10 pis]
a. 2p ¢ <. B ;-
b. 25 d. Eg Nuclear | Afomic Mass Number of Number of Number of
8 Symbol Number Number Protons Neutrons Hectrons
19. Which of the following statements s NOT true 2 210 :
a. Protons have a positive charge. - ) N o~
b, Hectrons are negalively charged and have amass of 1 amu. Pb % 2 2 A0 g i— E?,% .g L
c. The nucleus of an atorn s positively charged. 82
(D d. Neuirens are located in the nucleus of an afom.
¥ 20, Which of the following is necessary o caiculate the alomic mass of an element? j_ .
a. the afomic mass of carbon-12 : L,‘ q L‘,
b. the clomic numiber of the element Be i 5 4
c. the refalive masses of the element's protons and neutrons ’ - 4 B

d. the masses of each isotope of the element

Part Il - Short Answer: Answer each of the questions in the space provided. Show ALL work for 25 M \ 2/% l g
guestions involving calcuwiations, ) . ‘\ £ 8 \ < 12 11
1. Chlorine has twe naturally occuring isotopes, CH35 and C-37. The atomic mass of chiorine
is 35.45. Which of these two sotopes of chlorine is more abundant?2 How do you know?
L . 2 Q}‘_s] :
Cl-3% g oNeReo  atwanle  panass (S 2 Pt OI jg
- 't _ e 9 9 9
clote r 43 o 5, VA | : i

the * Ne ksotope is 19.9924amu, with a relative abundance of 90.475%. The atomic mass ) i

i 3 ,
2. There are three principal isotopes of Nean, @, Ne; ¥, Ne and # , Ne. The atomic mass of . !é \ i 39 l Ei 20 L i

of an atom of ¥ Ne s 20.994amu, with a relative abundance of 0.275%. The aiemic mass

of anatomof %, Ne is 21.9914amy, with a relativé abundance of $.250%. What is the

weighled average atomic mass of Ne {in amu)2 Show ALL work. [4 pts] ’ Par IV. - Essay .
a oWls w lol Jaqd = \=R. Q@B\ lﬁ.i . 1. Explain hZEre?:-eicfoms of one ellz*nenf differ from those of cmo‘iher element, [2 ots]
' ' Y ™ = o N‘eshm <+ elechpag
2.} T Y
e g T o~ P - 2
QOIS * 20 A = <-0oTTIE3S SR e Hmj nave. sene. B oo neuchns \5CSF?)OC—1§;\

CoTRRROK 2NN = 9 oF{2oNS
_2.OTHLONS

. o { I006LIT qase _ ©

1
G- 204%0 ame) @ , e

3. An element has an average atomic mass of 25.8 amu. it is known that one isotope hasa
relective abundonce of 73.24% and has a mass of 26.25 amu. What is the mass of the other

isotope? 4 pis]
Be taess = 25,3 o
Koons {'C"‘Hléok“c?a =3 —“2. 247, wass 2625 | L {
2"‘3‘ {sitope—> ow qeo 13, 24 = 26716 e 52
7

- tWGSDS T,

TR 2.9 = (1324 % J.Lq.;lsj 20T x ?>
25.% - 12.2255 « L, 26K
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